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Exactly one solution if  
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There are inifinitely many solutions if 
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Therefore equation is 
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Using synthetic division with 
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whereas 
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starting positions of the roots are different 
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The roots themselves are
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4.
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Therefore the position vector is always at right angles to the velocity 



vector.     
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Therefore 
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Speed = 
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The speed is constant.
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Other solutions are possible
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So at (9,0,3)   
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Change in speed is 0.12 m/s    (
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At 
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After one second (when the mouse gets to its hole)
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so they both arrive at the hole together.




Let’s hope the mouse does not have a long tail!!!
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The projection of 
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